
Subject: Re: Question on using weights for svyset and finding ICC in svy:melogit
Posted by Bridgette-DHS on Thu, 15 Jun 2017 16:52:23 GMT
View Forum Message <> Reply to Message

Following is a response from DHS Senior Research Associate, Shireen Assaf:

The client weight is conditional on the facility. All the clients from the same facility have the same
weight. However, I would still set up the svyset as you have. 
For your second question, I believe that it is not theoretically possible to obtain the ICC. However,
as this is not a DHS question, perhaps posting it in the Stata user forum would provide you with
some other recommendations. 
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